Part no. : 1ISO4762-M6X25-8.8-A2L - SCREW,CAP,SOCKET HEAD:6.0 MM THD DIA — 100 nos.
Part no. : 1ISO4014-M6X120-A4-70 - SCREW,CAP,HEXAGON HEAD:6.0 MM THD DIA — 100 nos.
Part no. : 1ISO4762-M5X40-A4-70 - SCREW,CAP,SOCKET HEAD:5.0 MM THD DIA: — 700 nos.
Part no. : 1ISO4017-M8X30-8.8-A2L - SCREW,CAP,HEXAGON HEAD:8.0 MM THD DIA — 50 nos.
Part no. : 1ISO4032-M8-8-A2L - NUT,PLAIN,HEX:8 MM THD S7,8 MM NUT H — 50 nos.

Part no. : 1S01234-2X16-A4-50 - PIN,COTTER:2.0 MM DIA,STD STYL — 950 nos.

Part no. : 1ISO4017-M8X25-A4-70 - SCREW,CAP,HEXAGON HEAD:8.0 MM THD DIA — 300 nos.
Part no. : 1ISO4017-M10X30-A4-70 - SCREW,CAP,HEXAGON HEAD:10.0 MM THD DIA — 450 nos.

Part no. : ISO4017-M12X16-A4-70 - SCREW,CAP,HEXAGON HEAD:12.0 MM THD DIA — 700 nos.

Part no. : 1ISO4017-M6X12-A4-70 - SCREW,CAP,HEXAGON HEAD:6.0 MM THD DIA — 100 nos.
Part no. : 1ISO4017-M6X20-A4-70 - SCREW,CAP,HEXAGON HEAD:6.0 MM THD DIA — 450 nos.
Part no. : 1ISO4017-M8X20-10.9 - SCREW,CAP,HEXAGON HEAD:8.0 MM THD DIA — 150 nos.
Part no. : 1ISO4032-M6-A4-70 - NUT,PLAIN,HEXAGON:6.0 MM THD SZ,RH — 800 nos.

Part no. : 1ISO4762-M10X40-A4-70 - SCREW,CAP,SOCKET HEAD:10.0 MM THD DIA — 260 nos.
Part no. : 1IS04762-M12X30-A4-70 - SCREW,CAP,SOCKET HEAD:12.0 MM THD DIA — 400 nos.
Part no. : 1ISO4762-M12X50-A4-70 - SCREW,CAP,SOCKET HEAD:12.0 MM THD DIA — 450 nos.
Part no. : 1IS04762-M16X50-A4-70 - SCREW,CAP,SOCKET HEAD:16.0 MM THD DIA — 400 nos.
Part no. : 1ISO4762-M3X10-A2-70 - SCREW,CAP,SOCKET HEAD:3.0 MM THD DIA — 200 nos.
Part no. : 1IS04762-M6X16-A4-70 - SCREW,CAP,SOCKET HEAD:6.0 MM THD DIA — 900 nos.
Part no. : 1ISO4762-M8X25-A4-70 - SCREW,CAP,SOCKET HEAD:8 MM THD DIA — 150 nos.
Part no. : ISO7089-8-200HV-A2L - WASHER,FLAT:8.400 & 8.620 MM MAX O/A DIA — 300 nos.




